
Installation

Use and Care Guide
Vertical Rail Joiner-Add-On

Vertical Rail Joiner x 1 Drilling Template Box x 1
(See Scenario 2 Fig. 3 or Scenario 3 Fig. 8)

A H

Item # 1007-782-473
Model # 90683

SCENARIO 1: STUD
□   Push vertical rail joiner (A) up into top vertical rail as 

shown, secure the vertical rail joiner (A) on hole B with 
panhead screw (#12 x 2 in.) (see Fig. 1). 

□   Put the lower vertical rail as shown and secure the lower 
vertical rail on the hole C and D with panhead screw 
(#12 x 2 in.) (see Fig. 2).

SCENARIO 3: DRYWALL

□   Tear the drilling template box (H) according to the 
dashed line (see Fig. 8).

□   Align the drilling template box (H) as a locator as 
shown and mark the holes on the wall (see Fig. 9).

□   Drill 1/4 in. holes for hole B and C, drill 1/2 in. hole for 
hole D. Insert wall anchors (1/4 in.) into hole B and C 
(see Fig. 10).

□   Push vertical rail joiner (A) up into top vertical rail as 
shown, secure the vertical rail joiner (A) on hole B 
with panhead screw (#12 x 2 in.) (see Fig. 11).

□   Put the lower vertical rail as shown and secure it on 
hole C with panhead screw (#12 x 2 in.) and on hole 
D with toggle (3/16 in.) and bolt (3 in.) (see Fig. 12). 
Make sure the toggle (3/16 in.) and the bolt (3 in.) are 
installed on lower vertical rail before secure.

SCENARIO 2: CONCRETE

□   Tear the drilling template box (H) according to the 
dashed line (see Fig. 3).

□   Align the drilling template box (H) as a locator as 
shown and mark the holes on the wall (see Fig. 4).

□   Drill 1/4 in. holes and insert wall anchors (1/4 in.) into 
hole B, C and D (see Fig. 5).

□   Push vertical rail joiner (A) up into top vertical rail as 
shown, secure the vertical rail joiner (A) on hole B with 
panhead screw (#12 x 2 in.) (see Fig. 6).

□   Put the lower vertical rail as shown and secure it on 
the hole C and D with panhead screw (#12 x 2 in.) (see 
Fig. 7).

Fig. 5

Fig. 7

Fig. 12

Fig. 2

Fig. 3 Fig. 4

Fig. 10

Fig. 1

Push

Hole B

A

Fig. 6

Push

Hole B

Fig. 11

Hole B

PushPush

Fig. 8 Fig. 9

Hole B

Hole C

Hole D

Hole B

Hole C

Hole D
H

H

A

A

Warranty
This product is guaranteed to be free of defects in materials and workmanship for 2 years from the date of purchase. If this product is defective, call 
1-800-305-1726 or return the product to the store from which it was purchased for a replacement. Guarantee does not include normal wear and tear.

HOMEDEPOT.com
Please contact 1-800-305-1726 
for further assistance.

WARNING: This product can expose you to chemicals, including lead, which 
is known to the State of California to cause cancer and birth defects or other 
reproductive harm. For more information go to www.P65Wamings.ca.gov  

Hole C

Hole D

Hole B

Hole C

Hole D

Hole B

Hole C

Hole D

Hole B

Hole C

Hole D

Hole B

Hole C

Hole D

Hole B

Hole C

Hole D

Hole C

Hole D


